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(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |deiEE 1.6E+1 16.0 16.0
2 |EHE
3 |BEFE 6.0E+1 60.0 60.0
4 |EHE 4.0E-1 0.4 3.0E+0 3.0 34
5 (AR
6 IR
7 [EER
8 |ZWE 1.5E+4 14,700.0 1.4E+4| 3.4E+3 17,409.4 32,109.4
9 |HAE 1.5E+0 15 15
10 |HBER 1.0E-1 0.1 0.1
REEET! 2.0E+0 2.0 2.0
12 |TER 6.2E+3 6,240.4 4.5E+3 4,486.0 10,726.4
13 |HREER 3.0E-1 03 0.3
14 |[#E)E 1.2E+1 12.0 12.0
15 |FriRE 4.2E+2 4200 420.0
16 |EWE 1.6E+0 1.6 1.0E-1| 3.8E+3 3,810.1 3,811.7
17 |RINE 5.0E-1 05 3.4E+3 3,400.1 3,400.6
18 |f&@HE 6.7E+1| 9.0E+0 76.4 29E+0| 1.4E+3 1,372.9 1,449.3
19 [ILEE
20 |RHE
21 |IKEBR 8.0E+0 8.0 4.2E+3 4,200.0 4,208.0
22 |EEEIR 1.3E+2 131.8 3.5E+3 3,500.0 3,631.8
23 |BHE 2.0E-1 0.2 3.4E+1 340 342
24 |ZER 3.4E+3 3,400.0 2.1E+4 20,877.0 24,2770
25 |HER 1.4E+2 1413 7.5E+3 7,500.0 76413
26 |REAT 7.0E+0 7.0 1.8E+0| 1.3E+2 128.9 135.9
27 | KRFF 1.3E+3 1,326.3 6.1E+0| 5.2E+3 5,220.2 6,546.5
28 |EER 5.0E+3| 1.8E+2 5,200.2 1.8E+5 180,490.0 185,690.2
29 |ZRER 4 5E+0 45 45
30 |FNFLE 2.0E+2 204.0 20E+2| 1.1E+3 1,286.0 1,490.0
31 |BHRE
32 |BRE
33 |EWLE 1.2E+3 1,249.0 1,249.0
34 |LER
35 |lLAOg 1.3E+3| 2.0E-1 1,307.6 1.5E+5 145,900.0 147,207.6
36 |fESR 1.3E+0 1.3 9.9E+3 9,900.0 9,901.3
37 |BNE 7.2E+0 7.2 1.4E+3 1,400.0 1,407.2
38 |BER 1.3E+3| 2.0E+2 1,470.0 1,470.0
39 |EER
40 |fERR 7.8E+3 7,800.0 3.0E+2 300.0 8,100.0
41 [EER
2 |RIBER
43 |RERR
4 | KRR 47E+3 4,700.0 4,700.0
45 |FIFER 9.0E+0 9.0 1.6E+3 1,600.0 1,609.0
46 |EEER
47 |[HiER
£ H 43E+4| 3.9E+2 43,7948 1.4E+4| 4.0E+5 4175214 461,316.2
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